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QUESTION 1

Push the Exhibit Button to load the referenced "XML Document". When processing the "XML Document" according to
the method shown by "SAX Processing," which of the following correctly describes the output results (print and/or println

method output)? Assume that the processed XML Document has no indents (ignorable white space such as line feeds,
tabs, etc.).
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[2AX Proceasing]
Uze the following "ContentHandlerImpl™ clasa, and parse the ENL Documwent using 3AZ.

The SAX parser 1is namespace avare.
bssume no execution errors.

class ContentHandlerImpl extends DefasultHandler {
hoolean vigiting, date, name:

public woid atartElement |
String uri, 3tring locallame, String oi=mne, ALAttributes attr)

throws 3AXException {

if | uri.equalsi("urn:xmlmaster:VISITY) £& localMNamwe.equals ("ictcivicy™) )
wvisliting = true;
if | wisiting ) {
date = locallame.equals ("DateTime™) ;
name = locallName.edquals ("Name™) ;-
if [ locallName.edquala ("Jaokb™) |
Syatem.out.printlni attr.getValue ("Procedure™)

'

}
public woid endElement (3tring uri, String locallame, 3String oiizne)

throws ZAXException |
if [ uri.egquala{"urn:xmlwaster :VISIT™) £& locallNatwe.equals ("Actiwvity™) |

visiting = false:
if {date) {

System.out.print (" ——— ™y ;
date = false:

} oelze if (name) |
System.out.print ([ F*% )
name = false:

¥

¥
public woid charactera(char[] ch, int start, int length)

throws SAZException f
if [ date || natme )
System.out.,.print | new Itringich, start, length) |;

[EML Document]
<List ¥mlns="urn:xmlmaster:LI3T">
<Date>2004-07-01</Datex>
<Worker Name="Jeff Workman"
xmlns="urn: xmlmaster: TOREER™ />
<WigitLiat>
<hoctivity xmlns="urn:xmlmaster :VISIT"
Code="0001">
<DateTime>2004-07-01 09:00</DateTime:
<Location xmlos="urn:xmlmaster i CONTLCT™>
<MName>He len Edwards</Name:>
</ Location>
<Job Procedure="Inatsll freezer™ Time="1" />
</Retivityr
chotivity xmlns="urn:¥xmlmaster :VISIT"
Code="0002 ">
<DateTime>2004-07-01 13:00</DateTimex
<Location xmlns="urn:=mlmaster :CONTLCT™>
<MName>John Smith</Nams>
</Location:
<Jalh Procedure="Install alr conditioner™
Time="z2" /=
<fhonivitys
</VizitList>
</Liat>

A. Install freezer 2004-07-01 09:00 --- Helen Edwards *** Install air conditioner 2004-07-01 13:00 --- John Smith ***

B. 2004-07-01 09:00 --- Helen Edwards *** Install freezer 2004-07-01 13:00 --- John Smith *** Install air conditioner
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C. 2004-07-01 09:00 --- Helen Edwards *** 2004-07-01 13:00 --- John Smith ***
D. Nothing is output.

Correct Answer: B

QUESTION 2
Which of the following is a correct statement about XML security?

A. To encrypt an XML document using XML Encryption, the XML document must already have been normalized
(normalizationvia Canonical XML, etc.)

B. To attach a digital signature to an XML document using XML-Signature, the XML document must already have
beennormalized (normalized via Canonical XML, etc.)

C. SSL cannot be used as security when sending an XML document
D. To encrypt an XML document using XML Encryption, character encoding for the XML document must be UTF-16

Correct Answer: B

QUESTION 3

Assume that the "XML Document" is changed to the "Results XML Document.” Select which XSLT style sheet correctly
performs the transformation. Note that the XSLT processor can output transformation results as a document. [Results
XML Document] Imnop

A.

[exam.xsl]

B. [exam.xsl]
C. [exam.xsl]
D. D. [exam.xsl]

Correct Answer: A
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QUESTION 4

Push the Exhibit Button to load the referenced "XML Document".

[ZML Jocument]
<List ¥mlns="urn:xmliascer:LIST™>
<Dazer2004-07-01</Date>
<Wozker MName="Jeif Workman™
wmlna="urn:wmlmaster cMOREERT /=
<WisitLiscx
<hotivity xmlns="urn:xmlmaster :VISIT™
Code="0001">>
<DateTimex2004-07-01 09:00</DateTimexr
<dJolb Procedure="Install BEefrigerator®™
Time="z" /=
<fhotivitys
Shotivity xmlns="urn:xmlmaster :VISIT™
Code="0002 ">
<DateTime>2004-07-01 13:00</DatceTimex
<Jolbh Procedure="Install Air Conditioner”
Time="3" />
<fhocivicysr
</VizitLiscy
</fLigz>

When processing the "XML Document" according to the method shown by "SAX Processing," which of the following
correctly describes the output results (printin method output)? Assume that the processed XML Document has no
indents (ignorable white space such as line feeds, tabs, etc.). Although the expected processing result is choice "A",

processing may not occur as expected.

[3AE Processing]
Uzse the following "ContentHandlerIwpl™ class, and parse the XML Document usinc S4X.

The 3AE parser 1z nanespace aware.
Lz=ime no execution errors.

claszs ContentHandlerImpl extends DefsultEandler
String code=null, timeStr="";

pihlic wvolid startElement |
String uri, 3tring locallame, 3trirng giame, Attributes attr)

throws 3A4AZException |
if (uri.eguals("urn:xmlwaster:VISITM) ££ locallNam=s.equals ("ictivity™))
code = attt.ogetValue ("Code™) ;
if f(code !=-pull) o
if (locallame.equals ("Job™))
Cime3tr = attr.getValue ("Time™) :
}
¥
pihlic wvoid endElement (3tring uri, 3tring localllame, Itring dgiiame)
throws S4XException |

if (uri.equals("urn:xmlwaster:VISIT") £& locallamz.edquals ("Activicy™l) |
Gvatem.out.printlnicode + "#Jokb of " + timeStr + " hours™:
code = null;

A. 0001#Job of 2 hours 0002#Job of 3 hours

B. 0001#Job of hours 0002#Job of hours
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C. #Job of 2 hours #Job of 3 hours
D. #Job of hours
E. Nothing is output.

Correct Answer: A

QUESTION 5

Select which of the following correctly describes the results of performing a validation check on "XML Document"”.
Assume that the XML parser correctly processes the XML Schema schemalocation attribute.

[ZML Document]
<TestlL xmlns="urhn:xXmlmaster:cestml™
xmlns:xsi="http:/ vvw. w3 .org/ 2001/ XML3chema-instance™
¥xal:achemalocation="urn: smlmascer:testml tcestml.xsd":>
<record lewel="1" data="100" />
<record lewvel="Z"™ dats="2Z50" />
</ TestML>

[Cestml.xsd]

“x3:3chema
tnlna:xa="htecp:/Sfvww. w3 . org/ 2001/ XMLSchema™
targetMNamespace="urn: xmlraster:testml”
*xmlns:ctns="urn: xmlwaster:testml'=>

<¥3:import namespace="urn:xmlmaster:testml™
achemalocation="record. xsd™ />
<xa:element name="TeatML" type="tna:testmlType™ />
<¥s:complexType name="testmlType":>
XS Ssequence>
<x3aielewment ref="tna:record” maxOccurs="unbounded" />
</ w31 3equences
</uz:complexTypesr
</ ®3:schemar

[record.xsd]
<X3:3chema
mlna:ws="http://fuuw. w3 . org/ 2001/ XMLSchema ">
<us:element name="record" type="recordType" /=
<xg:complexType name="recordType">
<xa:attribute nawe="lewvel"™ type="w3:int"™ S
<us:attribute name="data" type="xs:int"™ S=
</®aicomplexTypes
</ warachemar

A. Valid

B. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" import element

C. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" ™"

D. No processing error, but is not valid.

Correct Answer: B
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